.0, 1}, Y =10, 1, 2, 3} thote] th5 T XA ¥

@ frx-x Q@ f:x— -2
@f:x_’XZ @ f:x>x+3

® f:x—|3x+1

@y = f(x) = x* oA
f(-1)=(-1)2=1€Y, f(0)=02=0€¥, f(1)=12=1€Y
webA ghaolet,




A% xyoll A5}l £ () = £(x)f(3) ©13L £ 7F A

o gk Ffolah

0°] opd xof thste] y = 0=
) = f(x)f(y) o AR
£(0) = f(x)£(0) & £(0) - £(0)f(x) =0
e fO)[1-f(x)]=0e f(0)=0%EE f(x)=1
T f(x) = 1°]¥
fO)=1,f1)=1,f2) =1, oth
= f(x)7F €A gd-Solgts A Baolng
fx) =12 743
=0




@© 1 @ I @)I,1 @ I,II ® I,II

L U@ + G =1 (5) + 13
10 .
=3+—:?-<1:]|'>
I.
i)x>0‘£ﬂ’ﬂ,—x<0,§>0°]E_E._
fl=3) = =(=x) =%
1 1
(H)=1=
x
ii)x<0?£”41,—x>0,)%<0°]£§
1 1 1 1
se9==50(5) =
i), i) 1A o = 7 () <>
I3 2 > -2 o o
f(%) =3>2=f(-2)-<AA>




4. AFE 4R 2= JF X7 FAGJA F 2 f(x) = 2T g(x) =
- 2x7F & o, X 9] 7= 2 QI

O3 @4 @A @sH 61

T @] Aog e ZOBR f(x) = g(x) oA
2=x3 2%, x> —x2-2x=0

2=
x(x+1)(x-2)=0,x=-1, 0, 2
X ={1,0 2

uhebA] X o] T2 Al <Rt
ol HE= 77







